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1.  You have just been offered a job at Sell.com Inc.  Before you decide whether to accept the offer you would like to know whether the firm is well managed or not.  You have read everything you can find that has been written about the company but would like to do your own analysis to determine whether the firm is well managed.  

a.  What information would you need to collect in order to analyze whether or not Sell.com is well managed?

b.  How would you analyze this information so as to determine whether or not Sell.com is well managed?

2.  
a.  During your interview, the CFO of Sell.com told you that the firm considering issuing bonds to help fund some of its rapid growth.  If the CFO acts in the best interest of its stockholders, how will the issuance of these bonds affect Sell.com’s future (after the debt issue) capital budgeting decisions (relative to if the firm had funded its growth by issuing additional equity rather than the bonds)?  Why?

b.  How would your answer in part a have been different if the bonds that Sell.com had issued had been convertible?  Why?

3.  During your interview, the CFO of Sell.com states that because of the rapidly changing nature of e-commerce, Sell.com does not consider investing in any asset which takes longer than 2 years to recover its initial investment.  Discuss why such a rule will likely lead to sub-optimal investing from the stockholder’s perspective.

4.  As is typical with Internet firms, your compensation from Sell.com if you go to work for them will consist primarily of stock options.  If you accept the job, you will immediately receive an option to buy 8000 shares at $75 per share.  These options would expire 2 years from today.  The current market price of Sell.com is $50 per share but in the past 3 months has rocketed from $15 per share to its current level.  The consensus of market analysts is that Sell will either go to $150 per share 2 years from today or that the firm will go bankrupt.  The $50 current market value compares to a book value for Sell.com’s stock of $8.40 per share.  The high uncertainty about Sell.com’s future is reflected in analysts estimates that the standard deviation of returns on the firm’s stock.  Analysts estimate that the standard deviation of returns on Sell.com will be 62% over the next 2 years.  This represents much higher risk than the market as a whole (which is expected to have a standard deviation of returns of 22.8% over the next two years) and represents an increase over the historical risk of Sell.com (the standard deviation of returns on Sell.com over the past 2 years is only 42%).  The expected return on Sell.com and on Treasury Securities (all returns assume continuous compounding) are as follows: 

Maturity
1-month
1-year
2-years
30-years

Sell.com
22.60%
35.10%
24.50%
15.25%

Treasuries
5.25%
5.83%
5.99%
6.09%

What is the value today of the option that Sell.com would give you as a signing bonus?

5.  Big Mac’s Burgers Inc. is planning on using surplus cash to repurchase 113,125 shares for  $15 each.  Big Mac’s stock currently sells for $8 per share.  Big Joe has 5 stockholders as follows:

Name
# of shares
Claire
500,000

Sam

250,000

Billy
100,000

Karen
50,000

Spot
5,000

Demonstrate how much better off Claire is if the firm repurchases the shares using transferable put rights rather than through a tender offer.  Assume that Claire exercises all of her puts.
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6.  Assume your brother’s basic philosophy in life is nothing ventured nothing gained.  He takes this philosophy to the extreme in investing.  He maintains a highly leveraged position in a portfolio of high-tech stocks.  You on the other hand take a more balanced approach and while you invest some funds in the same portfolio of high-tech stocks as your brother, you also invest in a portfolio of blue-chip bonds.  This portfolio of bonds has less volatility and a lower return than the tech stocks, but the correlation between the bond portfolio and the high-tech stock portfolio is pretty low.  Show graphically and discuss how your strategy of investing in both the high-tech stocks and the bonds is superior to your brother’s approach even if you wanted the same level of risk that your brother has.

7.  Due to unexpectedly high demand , Go Beyond Inc. is considering expanding its production capacity.  This new capacity will involve expanding current facilities using land which currently contains employee parking.  Land  to provide additional parking (to replace the parking spaces which will be lost) can be purchased for $125,000.  Expanding the production facilities would involve spending $350,000 immediately then $400,000 per month for the next 3 months.  During the expansion, the current production line would have to be shut down and sales of $30,000 per month would be lost.  However, production costs of $17,000 per month would also be saved during the shut down.  Four months from today, the expanded facility will open and sales would increase from the current $30,000 per month to $68,000 per month.  Production costs will increase from $17,000 per month to $32,000 per month.  Production from the expanded facility is expected to continue through 15 years from today.  If the required return on the project is 14.5% per year, should it be undertaken?

8.  Suppose Congress were to implement a flat tax in which investment income is not taxed.  What would happen to the optimal capital structure of the typical firm and why?  Be sure to include a discussion of what would prevent the optimal capital structure for the typical firm from becoming either 100% debt or 100% equity.
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Solutions:

1.  
a.  financial statements [4], beta for equity [2], bond rating [2], market value of equity [2], industry average ratios [4]

b.  Calculate ratios and compare to industry [8]:  

=> ratios far above or far below industry indicates a potential problem [6]

=> trend away from industry averages indicates potential problem [6]

activity ratios to see if problems with asset management

inventory turnover [1] => how effectively managing inventories [1]

average collection period [1] => how effectly managing receivables [1]


=> compare to credit terms [1]

total asset turnover [1] => how effectively managing assets [1]

profitability ratios to see if problems with operating profits

net profit margin [1] => profit per $ of sales [1]

return on assets [1] => profit per $ of assets

return on equity [1] => profit per $ of stockholder investment

leverage ratios to see if too much debt

debt ratio [1] => % of assets funded with debt [1]

interest coverage ratio [1] => is firm able to pay interest [1]

=> problem if < 1.0 [1]

short-term solvency ratios to see if firm has liquidity problem

current ratio [1] => current assets per $ of current liabilities [1]

quick ratio [1] => more stringent definition of liquidity [1]

EVA analysis [8]

=> compare to zero [6] and see if increasing or decreasing [6]

Note:  numbers in brackets show up as checks on your exam, the total number of checks should be given somewhere around the question number.

Scale [checks=points]: 51=50, 43=48, 34=46, 32=44, 30=42, 27=40, 24=38, 22=37, 20=36, 15-16=34, 10-11=32, 1=25

Example:  if you have 15 or 16 total check marks, then you will get 34 points on this question.

2.  
a.  
1) incentive to overinvest in high variance projects [6]

=> reason: stockholders get upside from risk [4] while sharing or pushing downside on bondholders [4]

=> may have incentive to invest in negative NPV project if increases risk enough [2]

=> incentive gets worse if firm becomes financially distressed [2]

2)  may pass up positive NPV projects if funded by stockholders [6]

=> reason: both stockholders [2] and bondholders [2] benefit from investment but stockholders bear cost [4] => doesn't get undertaken if benefit to stockholders is less than cost to stockholders [4]

b.  Resolves 1) [4] but not 2) [4]

=> bondholders now benefit from upside [2] since can convert to stock [2] if stock prices increase due to the upside potential

=> stockholders share both the upside and downside [4]

=> doesn't prevent bondholders from benefiting from project and doesn't lead to sharing of cost of project. [4]

Scale [checks=points]: 22=50, 12=45, 9=43, 8=42, 7=41, 4=39, 3=38, 2=36, 1=25
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3.  May not increase the value of the firm the most

(1)  ignores cash flow beyond 2 years [4] => may be significant

(2) ignores timing of cash flows within the 2-year horizon [4]

(3) ignores risk of cash flow [4]

(4) two years is arbitrary [4]

Scale [checks=points]: 20=50, 18=48, 16=46, 14=43, 12=40, 10=37, 8=36, 7=35, 6=34, 4=33, 3=31, 2=29, 1=25

4. 2 = (.62)2 = .3884
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=> 12.311 x 8000 = 98,490.99

Partial Credit:  Equations:  d1, and C0 [+9 each], d2 [+5]; Variables: 50, 75, .0599, .3884, 2 [+4 each]; N(d1), N(d2) [+2 each]; 8000 [+2], final answer [+1]

5.  Price after repurchase = 
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Tender Offer

# of shares can sell = 
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wealth after = 33,567(15) + (500,000-33,567)(7) = 3,768,536

Transferable Put Rights

# of puts = 
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Claire can sell 
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wealth after = 62,500(15) + (500,000 - 62,500)(7) = 4,000,000

=> better off by 231,464 = 4,000,000 - 3,768,536

Partial Credit: 905,000(8)- 113,125(15) [+8], /(905,000 - 113,125) [+4], # of shares can sell w/ T.O. [+8], 33,567(15) [+4], (500,000-33,567)(7) [+4], 905,000/113,125 [+4], 500,000/8 [+4], 62,500(15) [+4], (500,000-62,500)(7) [+4], 4,000,000-3,768,536 [+4], final answer [+2]
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6. 

[image: image8.wmf]
By combining stocks (S) and bonds (B), achieve diversified [4] portfolio [1] at C.  You can achieve X by borrowing [2] and investing in C [2] (which is a combination of S & B) thus achieving a higher return for the same risk [4].

Points on graph:  E(r) [1],  [1], rf [2], curve [4], S [2], B[2], C [4], line through tangency [4], line through S[4], brother's portfolio [4], your portfolio [4].

Scale [checks=points]: 36=50, 33=48, 32=46, 28=43, 26=40, 24=37, 22=36, 20=34, 18=32, 6=29, 1=20

7. 
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Costs and Lost Sales
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Benefits
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NPV = 7076.20 => worthwhile since > 0

Partial credit:  Equations [+5 each]; variables:  1/12, 23,000, 3 [+4 each]; .145, -125,000, -350,000, -400,000,    -30,000, 17,000, 3, 177 [+2 each]; final answer [+2]
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8.  
Increases the optimal amount of debt [6]

=> under current law, bondholder income ends up being taxed at a higher rate than equity income [4]

=> offsets corporate tax benefit of debt [2] due to interest being a tax deductible expense [2]

=> with flat tax this goes away. [4]

Doesn't go to 100% debt because financial distress costs still exist [2]

=> if issue debt, chance that interest < earnings [4]

Direct Costs => bankruptcy costs [1] including court costs [1], legal fees [1], reorganization costs [1], administrative costs [1]

Indirect => lost tax shields due to insufficient income to deduct interest from [4]; loss of confidence in firm:  loss of best employees [2], lost credit purchases [2], increased interest costs [2], lost sales [2]; and short-term actions like forgone maintenance [2]; costs imposed by bondholders as debt levels rise [4]

Scale [checks=points]: 30=50, 22-23=48, 18=46, 16=44, 14=42, 12=40, 11=38, 10=36, 8=35, 7=34, 4=32, 2=30, 1=25
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